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State the observation made by oersted on the basis of his experiment with
current carrying cond uctors ?

FHTEA R F ) awed §2

What is meant by tropic movements ?

B FH H ww dn 3w e W W g st fafay

Mention the main purpose of using a plane mirror in solar cookers.

Y X % faErE w5 IwEm g e e e i

(a)  wErE X w1 AW R SEE g fafeg

(b) X Wl W q sl R Hafem Tt wdem F w9 § s St
A solution of substance ‘X’ is used for white washing -

{a) Mame the substance ‘X’ and write its formula

(b) Express the reaction of ‘X' with water in the form of a balanced
chemical equation.

= fefgy -

(a)  wfEEs ug @ fFOfeT § geme v g

(b)  wrfu® wieg ug o0 gu o Gt % awm wd e o fear s
i1

Give reason :

(@)  Sodium metal is stored under Kerosene oil.

(b)  Inspite of being highly reactive, aluminium is still used for making
utensils.

2 EIH WG9 F 5 v FyEr F Q) faged ¥ W @ ww H e 9 9w o
EnEdiEed '

Find the work done in moving a charge of 2 coulombs between two points
having a potential difference of 5 volts.

e witd] § SRy A s & o e e g & gt @ g s
SR A1 A9 H TF IR B SeerE Hifeg)

List two precautions to be taken to avoid overloading in the domestic circuit.
Also state one difference between over loading and short circuiting.

SY=EA-aEa () afufEad = §7 99 sw # e uE o o
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11.

12,

14.

What is oxidation - reduction (redox) reactions? Jushify your amswer by
writing one such chemical equation and name the substance oxidized and the
substance reduced in it.

e St e e aAtatEae § fadeR i Hfera TamafE THEOT 6
=9 1§ TeE 1 TE-UE SR W S |
Differentiate between an exothermic reaction and an endothermic reaction.

Write one example for each one of these reactions in the form of balanced
chemical equation.

w1 B & ARk g % fawed @ fee W g7 @ At e #
et fefy | 36 SAIE & A ffiay St gae 02 aa de S e S ws
=

What happens when a solution of baking soda is heated? Write chemical
equation for the same. Name the product which is responsible for making the
bread or cake spongy and fluffy.

5 < et syfefemansdl & dafem vemafie e ey
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© w1 e s e wgiEEe @ afufen
Write balanced chemical equation for the following reactions:

(a) When copper is heated in air.

(b) When Aluminium is heated in air.

{c) Aluminium oxide reacts with sodinm hydroxide.

mmmmmﬂ'kfamaﬁ%mmaﬁEaﬁméwmm
=1 IoeE ) 200 vhR & fee vhiws 9 02 A 9T ol @ < &
whyE & fou & o= favass 3@ S

State with the help of a circuit diagram an activity to find the resistance ‘R’ of

a given wire. A current of 0.2 A passes through a resistor of 20{l. Find the
potential difference across its ends.

fret wwe wie B 9gs 2 fags So9 S WA G e e 3 =9 F9 AHF
T W S - Sl e w T e e gdifen w0 W7 S T
) qfe 3 forg, oo el | o Wehr 3 HaeE & <) a e wEe

A number of bulbs are to be connected to a single source. Will they provide
mare illumination when connected in parallel or in series? Give reasons o
justify your answer and also list two advantages of this type of arrangement.

3 s & Tore swdrd TR 2 fagg Wikl % fafer e fage 9 &

3
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Name two electrical appliances of daily use in which electric motor is used.
Mame and state the principle on which an electric motor works.

(a)
(b)
(a)

(b)

(@)

(b)

(@)
(b)

(@)
(b)

(a)

mwﬁﬁﬁmﬁmm#amﬁﬁ@mi 3
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List two functions performed by dilute hydrochloric acid in our
stomach.

Name the raw materials required for photosynthesis.

AR wivEn (F50R) S it e e R Fifieee Amiea 3
AT |

et ifvEm & 29 ur & "M fafe .

(i) T EA T H A €

(i)  Tord g gEm faga @ ¥ w9 F T S g

Draw the structure of a neuron and label the nucleus and cell body.

MName the part of a neuron -

(i) where the information is acquired.

(ii) through which information travels as an electric impulse.

1 e 71w st # s @ wdl a, b, ¢ 741 d W 9EEH SIS 3
a4 3R £ F H G TIE

o
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20.

List the functions of parts d and {

T Sl B W ad ¥7 Tue 0 v SawEm fafeel ge s #
S i T drst S HE Ty

What is meant by wind energy farm? Write one of its practical applications.
Give any two limitations of using wind energy.

- Bl A AT B e g Hem w2 A 235 € 9w

(a)  iferra w43,
(b) EESEE W % foC swgE ¥ uds e § AR awt sfufEn = Am
frEe | 2 whR & stuiEsl % 9 s o fafan)

Qut of two elements A and B with mass number 2 an@ respectively, which
one is suitable for making -

(a) a nuclear reacloi’

(b} a hydrogen bomb ™ ~ .

Name the nuclear reaction involved in each case. Write one difference

between the two types of nuci®ar reactions. .

m%ﬁﬁﬁﬂﬁﬁtﬁmﬂ@ﬁﬂﬁ;ﬁﬁﬁﬁﬁ%l T
o Teerd! oftwzn 1 7 fafae . o= o w s o & @ 990 e St
7 fafee | wam it geea § |@dy 7 s i fF de § st e oy ag
o T w9 aufieft wavEw ¥ IW B A SUERV 1 Amiea st s
FT | FE S & T=E F 2 I F g e

Most metals get tarnished when left in open for some time. Name the
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phenomena responsible for this. Name the compound formed when iron
rusts. Explain briefly with the help of an experiment that rusting of iron take
place in the presence of air and moisture. Draw and Iabel the diagrams also.
List two ways by which rusting of iron can be prevenied.

39T/ OR

M@ FIW F Y FTR W@ FO F wwA F T A gt ¥ I9EN B
ﬁmmmmﬁwmﬁmﬁmaﬁmmﬁm%
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Fifag |

Name the process used to obtain pure copper from impure copper. Draw a
labelled diagram of the apparatus used and explain the process. State the
changes made in the apparatus if silver is refined in place of copper using the

same process.

(i) el 3 Freftas TaEt T % e See wgfa TeEtEn FH
ferfigu .
() v = v feet uig & sfufean #E €
(b) v o o7 Tt uig F ammEiae § sifufiee F ¢
() v Fe s fet e & affea o

(i) 9 ferai A, B T C ¥ pH WH %79: 5,8 94110 §1 w1 fFad H ®1
iz TEd i ¥ T T el @ W & SER W I AU
&7 H wieRd e | :

(i)  Write balanced chemical equations only for the following chemical
properties of acids:
{a) when an acid reacts with a metal
(b)  when an acid reacts with a metal bicarbonate
(¢)  when an acid reacts with a base

(i)  Three solutions A, B and C have pH values 5, 8 and 10 respectively.
Amongst the three which solution has maximum hydrogen ion
concentration? Classify the nature of the three solutions as acidic or
basic. :

ean/ OR

(a) A1 <1 it TR e e Hif

373K 1 3
CaS0, 2H,0 —25 CaSO,. = H0+ 7 H,0

Wﬁﬁﬂaﬂﬁﬁmﬁfﬁﬂﬂﬂﬁ%ﬁ@ﬁﬂmmaﬁﬁm

(b) ﬁﬁawmﬁmﬁﬁmﬁ:ﬁmﬁﬁsﬁm%aﬁmmw%:
(@  Hifeam sREs
) o A |
1 el e A 6 v e ST I ) e e o
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Study the following chemical equation : -
C880,.2H,0 —3BK , cas0,. % H,0 + -g- H,0

Name the reactant and the product and mention one use of the
product.

(b)  The following salts are formed by the reaction of an acid with a base:
(i) Sodium chloride

(it} Ammonium nitrate

Identify the acid and the base and tabulate your answer in the format

iven below.

S.No. SALT ACID.| BASE | NATURE
(1) | Sodium chloride . ;
{2) | Ammonium nitrate l{ |

5

a1 e A 991 B AT afrly #9950 961100 ¥ e wd § oik e don A
- B 20 V& T ¥ Hdifoa feg om € -

(@) =R vl & fow WaeE @ ouii % foe ey sig witE)

(b)  FH | o WA d 9o A 99 B ¥ Tl W Seed wHE g9 2

(©) T ¥ firg Wdom # 9T A 991 B 9 99F 4RT YeiEd g ?

(d) weaw mEw & for gy Wiy vitwfoa Sife

Two conductors A and B of resistances 5 £ and 10 Q respectively are first

joined in parallel and then in series. In each case the voltage applied is 20 V.

(a) Draw the circuit diagram to show the combination of these conductors
in each case.

(b} In which combination will the voltage across the conductors A and B
be the same?

(c) In which arrangement will the current through A and B is the same?
(d)  Calculate the equivalent resistance for each arrangement,

OR

(a)  wuafy faem wew & g oo fom dew = fae swEm fag 9 o o d
T e weifen 2t & e it Fam og @ wwwa ) =62

(b)  WoH % O I A9 THHG §99 2700°C TR ¥, 9 R 9% T 99 a9 W
et = gl = 2

(©) Rl e ooy =1 o SR SR O ST R ST W9 0.25 A HIRT 9959
w1 oftuy F vanfen sndw ufisfea wifag)

(d)y Fr feg T W 220 VR AT 2 kw ¥ 70wl % fe s
faree v i s fesfom Fifen)

(a) Though same current flows through the electric line wires and the
filament of bulb, yet only the filament glows. Why?

Page 3of 18



(d)

The temperature of the filament of bulb is 2700°C when it glows. Why
does it not get burnt up at such high temperature?

The filament of an electric lamp, which draws a current of (.25 A is
used for four hours. Calculate the amount of charge flowing through
the circuit.

An electric iron is rated 2 kw at 220 V. Calculate the capacity of the
fuse that should be used for the electric iron.

T 1 T 9% 38 g% ¥ IR ¥R U 99 ¥ 9§ o A feewm R 9F
Ty Yi-Hi SET A% &I 9999 W 9% 9% I6Y S § F 6 a7 99 S U

ferdrg Y o safiem = o= &
(a) e e Tt G ¥ sqafirs o @ ondi &7
(b) T % i 9w A i g H R B S e e g 7

()
(d)
(©)

o Y % avfew wie Yo difam S ¥ 9 T Frefoa i 37
el o5 T9% & =90 #iK TEEE 89 % 99 ¥ o sne gifag)
ety Yl ¥ 3 ey

A student fixes a sheet of white paper on a drawing board. He place a bar
magnet in the centre of it. He sprinkles some iron filings uniformly around the
bar magnet. Then he taps the board gently and observes that the iron filings
arrange themselves in a particular pattern.

(a)
(b)

()
(d)

()

(@)

c)
(d)

- @

(b)

Why do the iron filings arrange in a pattern?
What does the crowding of iron filings at the end of the magnet
indicate 7

What does the lines along which the iron filings align represent?
Draw a neat diagram to show the magnetic field lines around a bar
magnet.

Write any two properties of magnetic field lines.
FrT/ OR

ferelt wrerg 4 = oot aEw fom &1 w0 @ W FE W@
B ? 279 391 it W Aig g Fifew |

SRt & F e Tt e o erifya we w1 fan e et Wi

FA & 7

for oftfeaddl & geig &7 § fiun fedl aeEl 9oe W sfusan =@
AR 1§ ?

gEEE 47§ g yed See W st 9@ = e fFeite w0 9@
fram =1 9w vy Fraw fafag)

A stationary charge is placed in a magnetic field. Will it experience a
force 7 Gixe reason to justify your answer.
On what factors does the direction of force experienced by a conductor
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(©)
(d)

(a)

(b)

(@)

©

(2)

(b)
()

(@)

when placed in a magnetic field depend?

Under what conditions is the force experienced by a current carrying
conductor placed in a uniform magnetic field maximum?

Name and state the rule which gives the direction of force experienced
by a current carrying conductor placed in a magnetic field.

Wamﬁmmﬁﬁﬁﬁmmﬂwm:

() A FE

(i) FAEM

(i) ~ HARH

(iv) WERN

T G T TLEA I Seei@ FIAL |

T el @ weel w1 aw fafay fere wafn TRERS 9HR &
AR W § B

Draw human excretory system and label the following parts: -

(i) left kidney

(i}  Urethra

(iify  Urinary Bladder

(iv) Venacava

State the purpose of making urine.

Name any two substances which are selectively reabsorbed from the
tubules of a nephron.

94T/ OR

aFE % va9a 93 W S wiasr Befata w5 aies siteg

(i)  vEEfEm
(i)  Iofes o
(i) wEAl

(iv) BETEE

GO 7§25 91 1 HATAE AEE Wl El Fhi 2

e # ufked vaee avie o M fafey aw 38 FiRE w1 e Hi
fort ore smifee g &)

Draw a neat diagram of human respiratory system and label the

following parts

(1) Bronchioles

(i)  Rings of cartilage
(iify Pharynx

(iv) Diaphragm

Why do lungs always have residual volume of air?

Name the respiratory pigment in human beings and state the cell in
which it is present.

wr - &/ SECTION - B
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26,

27.

w9 o0 FIW o faeas § Fae = =0 oed € A1 98 U0 w5 © 19
(@) Tawe Hien @ ww & S Fe W S5 T T sl

(b)  Torerm i T @ S & SR el weE o T e 3@

()  faeram Trdi € v & S Fiel Wl W WW 9w g

(d) Tooem Wi w0 @ s} o e W e i we e &6 ©
When iron nail are put in copper sulphate solution, we observe that the
(a) solution remains blue and no deposit on the nails is seen

(b} solution turns pale green and no deposit on the nails is seen

(c) solution turns colourless and brown deposit is seen on the nails

solution becomes pale green and reddish brown deposit is seen on the
nails

o et B w5 fa agn 5 ot wud weyE gew dik- it wm e e E
SO U H R 98 U €

(2) i efteur iy F g e ¥

() it aT R

(c) I gREd A8l g 81

(dy et T g

In a beaker quick lime is taken and some water is added slowly and carefully
to it. If we now observe we find that
(a)  apungentsmelling gas is evolved
{b)  brown vapours evolve
()  nochange takes place
the beaker becomes very hot

]

a6 A I 6 NaOH faeem a9 diael B & g &1 @ W ¥ 9 ol e o
pH v ga o & & A qwn B femn 3 9@t fnwme AR E

()  frem o Wl
(b) e uE w0
(c) e uF e
(d) TR

Bottle A contain dilute NaOH solution and Bottle B contains lemon juice.
When pH paper is added in each of the solution, the colour seen in A and B
respectively are:

‘,(df Blue and orange

()  Blue and Green

{c)  Red and Blue

(d)  Greenand Red

=R de § A, B, C 791 D faead W ¥ fom pH AF A 5,6, 78 8 §1
Forerartt %1 Wt 3@ T 5 2 iy Y 1 e W
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()  wad, den, &9, Fen e
(by I, @w, =, Aenwm
(€) &, ien w0, w@, g9
(dy e &, v, WA, aw
Four bottles contain solutions A, B, C, D. The pH values of these solutions are
5 6, 7 and 8 respectively. To find out the nature of the solutions, they are
tesjed with universal indicator. The colours shown by them are in the order : -
orange, yellow, green, bluish green
) orange, red, green, bluish green
(c)  green, bluish green, red, orange
(d)  bluish green, green, orange, red

o e aRamTe ¥ e o from & -

1
(@) T Ay Pt & St ¥ urh = e A &)
(b)  diee Ty w5 g e e
() R o Frererdt & o o % ot o W v g Y
@ % i e P & o s e &) uty 4 NiH 003

hydrochloric acid is added to sodium bicarbonate we observe : L wi'
a colourless gas evolves which turns lime water milky 4 H [ *
(b)  abrown gas with a pungent smell evolves H ] d R
(€} acolourless gas evolves which has no effect on lime water
(d)  acolourless gas evolves which burns with pop sound
WWWWW#W@WWW:W%%: 1
(@) T SR e
(b) i w0 3 e
()  Hten 3R wiw =z
(d) T $iR Wi w0
Freshly prepared aqueous solution of aluminium sulphate and copper
sulphate respectively appear:
colourless and blue
(b}  pale green and colourless
{c) blue and pale green
(d)  colourless and pale green
wﬁﬁmﬁmﬁﬁﬁmﬁwﬁmw%ﬁﬁmw 1
SE T WA I S
(a)  foor wiw g g
(b) g sl e wf &
(c)  Torerm Wi w0 @ T & e s w5 F e w98 T v @ v
(d)  Toers e & mn E
When an iron nail is added to zinc sulphate solution it is observed after some
time that P
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(a) -~ the solution turns pale green
(ﬂi( no reaction takes place

{c) the solution turns pale green and the surface of iron nails becomes
silvery white
{d} the solution turns blue

fa 19 0§ =vifu 7 ofiugi © Seedi = gEgs B
2V 2V

H—(O——@®= (A

M

(a) nﬁqmll H 2 v au 9ftey T H oV
(by  wHf gyl 7 ov
(¢) = gftedi H 2v
(d)  wiRmg 1 H v e sy I H 2V

For the circuit shown in figures I and I, the voltmeter reading would be :
2V

2¥
+ l:__{} ""(:)'I' r“— (.) -‘(:)i
h

M

A
ER =
1 i
{a) 2 V in circuit [ and 0V in circuit [I
{b) OV in both circuits

2V in both circuits
0V in circuit I and 2V in circuit I

foelt Wedter & Y W 0 g wE 1.0 A g F i 20 TR wm €1 W TR
(ay 002A (b)  0.05A .

() 010A (d) 020A

An ammeter has 20 divisions between 0 marks and 1.0 A mark on its scale.
The least count of the ammeter j&

(@ 0.02A )  0.05A

{c) 0.10 A (d) 0.20 A

% B X, Y 7 Z fee sfitas 3 vaifee 9 w5 56% R % AN e W
foseen o Aegee & 0 ¥ To WO H 999 T (A) ¥4 (B), T (K) 99

1
1
..._!..__ - ML
20 )
1
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35.

\

g P (R) @1 900 A § 19 g T A e e o e ST ¢
X->BKEATB
Y—-B AKRB
Z-3B,RKA,B
for ooy sagdl =) Bl w0 Fartm

(@ X

o) X

) Z

(dy ®dA

Thred students X, Y and Z while performing the experiment to study the
d ence of current on the potential difference across a resistor, connects

ammeter((A), the battery (B), the key (K) and the resistor, (R} in series, in
the foflowing three different orders.

X—>B,KRAB {Eﬁﬁ@ﬁﬁﬁﬁr'

Y>B A KRB
Z5BREKATD -
Who has connected them in the correct order?
a) X R f@ e ] x
" o L
(d)  Allof them ’—‘ ll' \ \_W
¥ T T wfaeet e F s Fiiae 3R 39 9 uis @ e 1
AN et
40
20 30
‘\J:"v"\f'\n_f
58
(a) 20830
(b) 3fna40
(c) 30E50
(d 20350

Study the combination of resistors given below and find the two resistors in
parallel combination.

A
410
29 30
M SN
50
20 and 301
by 3Q0and4l)
() 30and 51}
(dj 2Nand50 .
41 fow e vty st F 300 F gEE 9 aRdlus] § SaeE & e ahRd 1

g w0 & vaiiE srEen § fafvs oiey s@ag oot g E1 ewd uftey
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Z
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(@ A, T, 9w EEEEs
(@ o fE, R, Sreeiet
The given circuit diagram shows the experimental arrangement of different
circuit components for determination of equivalent resistance of two resistors

connected in series. The components X, Y and Z shown in the circuit
respectively repmsEEt :

()

--'WHAN—N\'W-]
LD

(a) _. Rheostat, Resistor, Ammeter
Ammeter, Voltmeter, Rheostat

(¢}  Voltmeter, Ammeter, Rheostat.

(d)  Rheostat, Ammeter, WVoltmeter

37. “mmﬂ%mmm%”ﬁmﬁ#mﬁﬁmmﬁm 1
9 =1 2.3 Feet e i 3 T o ¥ A T AN €
(a) e =t wE
@) e R w
{c) W@Wﬁﬁﬂﬂﬁ
(@ e @ s F
In the experiment to show that ‘Light is necessary for photosynthesis, the

selected potted plant is kept in darkness for 2-3 days. This is done to:
(a) = protect the plant :

‘Qd]/ destarch the plant
(¢}  prevent welting

(d)  denature the enzymes

38. “mqﬁﬁﬂm%@'ﬁﬂmmﬁm%”ﬁﬁmaﬁmﬁ#mﬁmﬁf@ﬁﬁ% 1
e ST e e
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(@)  w=r tfew g
(b) eI FHPTS Y ufEal
() ¥ gewRe

(d) S

Which of the following is not required for the experiment? To show light is
necessary for photosynthesis-
{a) destarched plant
(b) Black strips of paper
compound microscope
{(d)  water bath

iﬂﬁ@ﬁ%ﬁmﬁhﬁﬁﬁﬁﬁmﬁmmmwmﬁmﬁaﬁ
ﬁwmmﬂgf%

(a)  w=mee Wel @ 2 wifen

(b) Tl oroft gt 7wt & St wifeg

(c) ﬁﬁ’fiﬁrmﬂﬁlﬁﬁﬁmﬁiﬁm

(d) S o

Precautions that need to be taken by a student while preparing a temporary
mount of a leaf peel to show stomata is/are

(a)  theslide should not be dirty

(b}  peel should be taken from freshly plucked leaf
{c) leaf peel should not be over stained
{;i)/ all of the above

4 g9ty Mg 1w fow ¥ avm & @ I FEf g9 T g

(@) ol ¥ W e

(b) =il Ft BT fuf)

(&} BR wifveel & Fw

(d) &R FifEei § s

In the diagram of the stomatal apparatus given below -
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Which one of the following is missing?
(a) cell membrane of the cell
(b)  cell walls of the cell
\/((r Nuclei in the guard cells
(d) chloroplasts in the guard cells

g1,  ‘vaed % ERA €O, Fremd ¥ i Wit oay ¥ WEER WRF § KOH 1
HEA SHSEERE Fi FEviIiG F o ¢ AR Frem e A wa w1 W S IS
1 T EAE
(a) v ¥ Higd H #
(b) e H faEm
() R d afrn faaf e
(d)  SvEm wt
“In the experimental set up - ‘To show CO, is released during respiration’,
KOH absorbs CO, in conical flask and there is rise of water level in the bent

tube because of - :
(a)  concentration difference in flask

(b) diffusion in flask

_@’C ; c&ofmm flask
all of the-a

1. ‘v F A CO, Frert ¥ T W F1 w0 % T sterers sl & g 1
= & mi €
o w1 SEaE gE T R 9 ¥
(a) TremiE
(b)  HFRE
(€ = &I
(d) Al

A list of materials required for the experiment - ‘CO, is released during

respiration’ is given below. =
Conical flask, KOH solution water in a beaker, delivery tube, and one holed
rubber cozk, Vaseline, thread, test tube.
The missing component is —
(a) glycerine

be/ germinating seeds
(c) lime water
(d}) oXygen
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